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ALL RIGHTS RESERVED FC/CC/M-
SRR, 2018-02

2018

GENERAL STUDIES
HHETAE AT
PAPER—I
qA—]
Time Allowed : 3 hours Maximum Marks : 300
9 : 3 902 Ui : 300

Instructions :
« The figures in the margin indicate full marks.

« Answer eight questions, selecting three each from
Section—] and Section—Il and two from Section—IIL.

« Candidates are required to give their answers in their
own words as far as practicable.

« All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.

« Parts of the same gquestion must be answered
together and must not be interposed between
answers to other questions.
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SECTION—I
RCLECD |
1.

Describe the significance of Gandhiji's social
and cultural thoughts. 38

Tﬁtﬁsﬁ%mﬁﬁwmﬁmﬁ-ﬂﬁﬁmmm
i

2. Discuss the development of western

education in Bihar from 1857 AD to
1947 AD. 38

ﬁmﬁmlsmﬁmlgwmmﬁw%
Tem A =T Hiftn

Discuss the contribution of Bihar to the
Uprising of 1857 AD.

¥ 1857 & 2% A R $ dimem 1 fadwmn Hifvm

38

Evaluate the causes and results of Revolt of
Santhal (1855-56) in Bihar. 38
e % durer ke (1855-56) & =nvit wd it

F g Fife |

S. Describe the causes and results of
Champaran Satyagraha in Bihar (1917). 38
foren A smrw g (1917) ¥ Fwuil & gfom
w1 Tl Fife
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6. Examine the salient features of Patng Kalam -
Painting Style.
vz s Rewen Ao B Te Rdvwmsh w1 v
EAIEM

38

SECTION—II
wus—II

7. Explain the BIMSTEC organization. Throw
light on the outcomes of recently concluded
Kathmandu Summit of BIMSTEC countries.
Discuss the issues related to India’s
interests, hopes and grievances. 38

Fres @med &l e fifs) Rewds 2wt F dem 6
Tl T FC FIeUNS, THEE F JROMET W WE ST
ura & fea, smmd wd enemsii ® wefva faw f
T i)

8. Critically examine the Rohingya Refugee
Crisis. Describe the role of Myanmar, China,
India and Bangladesh in evolution and
resolution of the crisis. Throw light on the
violation of Human Rights in context o
Rohingya Refugees.

mmmﬁmﬁﬁgaﬁmlﬁ
iz € IWH UH gmym @ AmEE, =96,
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What is the two plus two dialogue? Clear the
two plus two dialogue between India and the
USA in context to India and Iran bilateral
relations.

3 7 91 =0 27 e v A & fRudfa wEen %
= A uwa wd eifem ¥ ofi9 g 7 @ g Al W
T |

What do you know about NRC dispute?
Iluminate the political intentions behind it.
Discuss the international impacts of this
issue alsa.

THe Mo Hio @R A 3 w1 g9wd 27 3 faar #
fafes wifes @mall = =|e fifew W =+
sidtm wmEt it faas i)

Elucidate the international terrorism. How is
the international community today trying to
fight the menace of international terrorism?
What is UNO’s contribution?

mﬂwmﬁmﬁffmlmmﬂ

quEm frw SR SRR AEAR F wa @
¥ o wara = T 27 €IS Y 69 w9 AR 2
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SECTON—I
wmuE—III

12. In a city of Mahnrashtra, the main mode of
transport is the cor. The following chart
shows the population trends and car uge
trends during the period 2011-2016. Sty dy
the chart and answer the questions that
follow :

100
90

B0 /."A 4,
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60 /./
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30 —&— Malc population
—a— Number of cars
e —
20 '/ —p— Female population
10

{in 000 )
g

X

2011 2012 2013 2014 2015 2016

(@) 1In 2014, if the females used 30% of l:}'le
total cars, then what is the per capita .
use of cars by females in 20147

(b} What is the average percentage iﬂ“‘e?sfl
in number of cars over the Pperio 6
2011-20167

{c) Find the year in which the ratiu of males
to that of females was the highest.

FC/CC/M-2018-02/14 ( Turn Over )
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(d) If in 2012, 60% of cars are used by
males, then what is the percentage of
males and females who used car in the

year 2012?

(e)

1)

In which year the

ratio of male

population to the number of cars in the
city was lowest?

With what percentage, the number of
cars in the city was increased from 2011

to 2016

2
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(%) 2014 A Ak T T 30% 3 mfien i 3
fn, 1 iy v B w5 i 004 7

gan?

-~

(@) aafy 2011 ® 2016 F fo0 wwi 6 weq &
" siem e gfe 316 Fifw

(m) 78 =4 = A, foa gt wn wfeed
1 Swd gl AT

(7) afz 2012 3 60% =it J&9i a7 I H 7,
A 2012  F =M FA A G R wheme
1 ufdgea =0 27

() Frm o # qey we@e au TR A w0 6 e
F A AR AT

(=) 2011 @ 2016 % e & i A e H
+ vfawm 1 3 g

11 v
13. Study the following pie charts: which shov

. : ads In the
the expenditure on various he

Turn Over )
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second and third Five-Year Plans (FYP) and

answer the questions given bclow it :
Villago indusiry

Second FYP :
[ Total expenditure : .
Third FYP
¥ 4,600 crore } { Total expenditure :

& 7,500 crore )

fa) By what percent, the expenditure in
irrigation increased in the third FYP in
comparison to the second FYP?

(b)) What is the ratio of expenditures in
village industry in the second and third

FYPs?

c) By what amount, the expenditure in
agriculture in the third FYP should have
been increased or decreased so that to
make it 2'5 times the expenditure in
agriculture in the second FYP?

(d) By what percent, the expenditure in
agriculture in the third FYP is higher or
lower than the expenditure in industry
and mining in the second FYP?

FC/CC/M-2018-02/14 ~ ( Continued )
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(e} 1y whinl amonnt, the crpenditure |,
transpor ntion and communication
incrensed or decrenned in the (hirg yype
in vnmpmirmn o necond Ypy 6

() W the totnl expenditure in the fourth
YD in inereased by BO0% to that of the
third  FYP and  the  sepment  of
expenditure on social - service  and
miscellaneous muakes an angle of 78" al
the centre of pie charl for the fourth
IFYP, then what will be the expenditure
in social service and miscellaneous in
the fourth FYP? 6

$i R o wd YenfeEl @ s f)fam, Fort faefra
ud gell s Al 3 fafm wal i 2a R e
%mmuﬁ?%mzﬂm,sﬂmﬁﬁﬁmnﬁﬁ:

(g @ : € 4,600 ) et el A
(5 = : € 7,500 wg)
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(%) Tacha aaty avaen B gern & gdin dang,
avoen if g o o 8 fan v 4y ago,
A 1

() v e o Rl g gl daadia v g
0, @ v B

(M) et simarlf Ay fa 8§ @3 ar@ 2 i g
oftr A af sl ) ) B oar frha
weadfa sy i gl g9 @ o w25 g
LR

() ficlt weerdfa dven & 36w vd aem d g oo
o\ gern # el seadfa Aen i pla i gan
' freR wftr st svgen wa Q7

(w) faha veadfa o $t gen d gelta it
A # A vd queEn i feen sfie s
w0 A g

() aft g erdia A § g o gda i
AR ) g 3 B0% ug st ) e daadia
avarnn % ur§ tenfer i wonfoes amf w s
aug ¥% # 78° ® w A, @ agd deadfa
arsgan i Wl we vd s § feon sag ame
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14. Study the data given in the following multiple
bar chart, which shows the sex ratio in
Madhya Pradesh during the pering from
1901 to 1971 and answer the questions
given below it :

1000 A Total @ Rural O Urban
975 - :
3 173 :
g 2 :
E 950 4/ 2
Q 173 ] :
3 2 ; 2
S 925 YA 3 :
5 1 4 A U
o, . = ] &
900 V£ A Wk
3 A A0
g 2 | VE
875 YL x S 7%
R 4| e VE
850 A: 2 E:‘—‘ ;
1901 1911 1921 1931 1941 1951 1961 1971

Census Years

(a) What are the ratios of females per 1000
‘males in rural and urban areas of
Madhya Pradesh in 1941 and 1951
Census? In which year was it higher? 6

(b) What is the percentage change in
females per 1000 males in urban arcs.xs
of Madhya Pradesh in 1961 in
comparison to 19317

FCICC/M-QOIB—OQ/ 14 { Turn Over )
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Compare the ratio of females per 100
males in total and rural areas qf
Madhya Pradesh in 1911 and 192]
Census. In which year was it higher?

In which census years, were the female
sex ratio in urban areas of Madhya
Pradesh highest and lowest? What is

the difference between these two?

If in 1931 Census, due to some error in
counting 15 females per 1000 males
were wrongly counted in urban area
instead of rural area of Madhya
Pradesh, then what should have been
the actual percentage of females per
1000 males in urban area of Madhya
Pradesh to that of rural area in 1931?

Il in 1971 Census, there were 90 crore
males in  rural arecas of Madhya
Pradesh, then what is the difference
between male and female population in
rural areas of Madhya Pradesh in 19717

b

6
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(M) 1911 @ 1921@@1013113119131%51%@;
aen mfior e 3 1000 et # e
w@ﬂmﬁmlﬁmﬁa—wﬁam?

(%) e e et § wer @ % WEQ T A
mwmﬁwﬂ?ﬁﬁ%
He R e et

(z) 4R 1931 #i g § ww & Bl gR %
o 15 wieamd 9 1000 GE e § AEA
T % WG T % 95 el g § e
@R, o 1931 # 9E v ¥ wed e A

wft 1000 TE6t § wRwsit w1 o genet |

(&) Rl IQTIﬁWﬁmm%W
@ # 90 FE T A, /1971 § wer wm

At 1 AY L

FC/CC/M-2018-02/14
~am " ( Continued )



The Vision

( 15 )

5 gtudy the following line graph

' Which -
the Public Sector Banks g Bives

: Vanceg ¥ in
crores) to the threc priority Scclors, viy
’ "y

agriculture, small-scale industries ang other
private sectors during the period from 1970
to 1976 and answer the questions that

1

follow :
(¥ in crores)
200
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:E % \ . [~ o .
1 N 17 ) N \ . Other Private
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~ -l - I : P
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Years
vance was
(a) What percentage of more ad o 10
i lic sector
given by the pub Eengi 1

small-scale industries in cO ”

i in 19717
agriculture - e
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(b} Find the ratio of advance given by the
Public sector banks to agriculture,
Small-scale indystries and other private
sectors in 1972, 6

(c) The total advance counted yearly from
1970 to 1976 by the public sector
banks to small-scale industries is what
percentage of that to agriculture? 6

(d) 1f 40% of advance given to small-scale
industries is utilized in cottage industry,
what amount was utilized in cottage
industry in 1975? 6

fe) Find the ratio of advances given by the
public sector banks at three occasions
between 1970 to 1976, when it was

equal for agriculture and small-scale
industries. 6

(f) In which two years there was decrease
in advance given by public sector banks
to agriculture relative to the last year?
Also find the percentage decrease in
advance in these two years, 6

FC/CC/M-2018-02/14 ( Continued |
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